Name Mr. Iard

F(_zd'o ring Pmc'*icc

)Facf‘or ou{' Hhe common m(mom{m

() bx*+ 3x 2, 10x"+ 3%+ 2x
3x(2x=+ 1) X(10x% ¢35 + 2)
3 YT+ Y W, 2bx’ + 13x
Lf(sz+ |) BX(ZXZ* ]>
Eﬁc\"vf US\L;’\CS revérse FOTL
-— = :
) 16 , 5 'Z‘Z . 1S
5 X +5x *623 6, x v X =123y 7. x - Yx -5
(X*3>(x*2> (X+L))(x-3> (X"5>("+ ’)
" ” 1S
- 2 g - S 2
3. 3 -2lx + 30 9. 2x = 18xrUo 10 X 78X .S
/ hE 2(x%+ 9x r 210
3()(1_7x+10\) mso _ <’-< | 20) e (X->)(x—5>
3(x-2)(x-5 2(x+5)(x+y)
wfn/g};ﬂérencc of cubﬁs\
25 - ><'3 12, -27x°+ 4Y
& - (S E3 v @y
(5-x)(25+ 5x * x*) (3 + ) (W - m1zx + 1) = (-3 +U) (% 1z )
2
3. lba ¥ 54 8. %=
2(9a° + 27) G = (D

2(@2 + ()
2(za+2)(Ua" - ba +7)
o ey gy ]
5. x'B'sz' Ix + 1%
si(x-2) -a(x-2> 33 -3) +1 (4x-B) |

(’“‘)(X?'* X +))
)b ‘l'Zx;"?xz*’ Uy = 5

(x*- ) (x-2) (3x*+ ) (HUx-3)

. i} ‘ 2Cues - Cx - Cby + %
Fia ZXS+ Ox 4 bx ¥ 15 3. D_QX/ 5x éy %

C(2x+8) + 3(2+S) S (7y=1) ¢ -8(7y-)

(x*+3)(2x+5) <5X‘8)(7y»1)



